CONCEPTUAL TooLs By: Neil E. Cotter CIRCUITS
V AND I DIVIDERS

Current divider

EXAMPLE 2
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Calculate 1.

soln: We have a current Arvider consi_s-(:inj
oF +the I6A sr¢ and +the Wos and
losn R's qualle\..

To verify +that we have a current
divider, we observe that <the circult
satisfies +the 7£o//awin7 Condl (€lons:
L) The 106A s +the +total current

'Flowi.:\j thto one end of +he

4050 and 10 pesistors, andd
L) The cffasi-ée ends of the 402 and

6.2 R'3 are connected so tHhat

e V“ﬁ{l‘a'p across the [0St and 4on

reststors (s +the same.

USinj the current ~divider formula (with a
minus sign  because ¢, ¢S measured (in a
Adirection oppo site to the 10A srd-

L,Z-/UA' Y0 = —8A
q4o.50+ 1052



